
;xsf/L ;+:yfsf] gfd  gj ;[hgzLn art tyf C0f ;xsf/L ;+:yf ln.
&]ufgf M rfjlxn sf7df08f}+
;Dks{{ g+ M )! $$(&@**
qm=;= ljj/0f ut r}q dlxgf ;Dd a}zfv o; dlxgf hDdf

1 z]o/ kF'hL 17,900,300.00 -51,800.00 17,848,500.00
2 hu]8f sf]if 11,191,609.81 0 11,191,609.81
3 cGo sf]ifx? 8,238,320.01 -3,280.00 8,235,040.01
4 s'n art /sd

$=! ut cf=j=sf] jrt jf+sL 106,117,258.66 0 106,117,258.66
$=@ jrt ;+sng 197,869,433.59 12,083,708.35 209,953,141.94
$=# jrt lkmtf{ 178,685,777.22 14,115,777.48 192,801,554.70
$=$ lkmtf{ ug{ jf+sL jrt 125,300,915.03 -2,032,069.13 123,268,845.90

5 lnPsf]  C0f

%=! lnPsf]  C0f 0 0 0
%=@ lt/]sf]  C0f 0 0 0
%=# ltg{  jfFsL C0f 0 0 0

6 bfloTj lx;fj 9,966,662.00 0 9,966,662.00
7 cGo bfloTj 163,292.08 22,313.58 185,605.66

1 gub df}Hbft 1,240,951.54 -952,134.66 288,816.88
2 a}+s df}Hbft-d'2tL lgIfk ;d]t_

@=!ÆsÆ ju{sf] a}s 2,442,494.50 1,317,393.66 3,759,888.16
@=@ÆvÆ ju{sf] ljQLo ;+:yfdf 910,444.76 -552,500.00 357,944.76
@=#ÆuÆ ju{sf] ljQLo ;+:yfdf 0 0 0
@=$Æ3Æ ju{sf] ljQLo ;+:yfdf 0 0 0
@=%ÆªÆ ;xsf/L ;+:yf÷a+}s 22,013,151.77 -2398000 19615151.77
@=^ jrt tyf C0f s]Gb|Lo ;xsf/L ;+3 0 0 0

3 nufgL M

#=! d'4tL lx;fj 0 0 0
#=@ Zf]o/ nufgL 0 0 0
#=# Jofkfl/s nufgL 0 0 0

4 ;b:ox¿nfO{ uPsf] shf{÷C0f

$=! ut cf=j=sf] nufgLdf /xL /x]sf 142,037,071.05 0 142,037,071.05
$=!=! efvf ggf3]sf] 0 0 0
$=!=@ Ps jif{ ;Dd efvf gf3]sf] 0 0 0
$=!=# Ps jif{  eGbf j9L efvf gf3]sf] 0 0 0
$=@ o; jif{ C0f nufgL 67,937,280.00 5,070,000.00 73,007,280.00
$=# C0f c;'nL 64,986,166.41 2,377,830.00 67,363,996.41

 >L 
 e'dL Joj:yf s[lif tyf ;xsf/L dGqfno 

 =afUdtL k|b]z, x]6f}+8f  sfof{{no, 
 dsjfgk'/ x]6f}+8f .

           @)&( ;fn a}zfv dlxgfsf] sf/f]af/sf] ljj/0f b]xfo   adf]lhd ePsf] Aoxf]/f k]z u/]sf] 5' .



$=$ c;'n ug{ jf+sL C0f 144,988,184.64 2,692,170.00 147,680,354.64
$=$=! efvf ggf3]sf] 42,905,197.00 46,128,532.00 46,128,532.00
$=$=@ Ps jif{ ;Dd efvf gf3]sf] 2,958,957.00 2,958,957.00 2,958,957.00
$=$=# Ps jif{  eGbf j9L efvf gf3]sf] 2,333,162.00 2,107,422.00 2,107,422.00

5 c;'n ug{ AffFsL Aofh 293,516.56 0 293,516.56
6 l:y/ ;DktL

^=! 3/hUuf 0 0 0
^=@ kmlg{ r/ 90,245.04 0 90,245.04
^=# ;jf/L 0 0 0
^=$ cGo 390,473.43 0 390,473.43

7 cGo ;DktL 650,000.00 0 650,000.00
s'n ;DktL 1,130,718.47 0 1,130,718.47

1 cfDbfgL

! Þ! shf{Aff6 Aofh cfDbfgL 15,178,710.50 230,985.00 15,409,695.50
! Þ@ cGo cfDbfgL 2,353,160.04 70,195.00 2,423,355.04

2 vr{

@ Þ! artaf6 Aofh vr{ 9,256,966.46 371,594.23 9,628,560.69
@ Þ@ shf{sf] nflu hf]lvd Aoj:yf 0 0 0
@=@=! efvf ggf3]sf] 0 0 0
@=@=@ Ps jif{ ;Dd efvf gf3]sf] 0 0 0
@=@=# Ps jif{  eGbf j9L efvf gf3]sf] 0 0 0
@=# cGo ;+ rfng vr{ 1,543,804.44 166,219.00 1,710,023.44
@=$ v/fj C0f ckn]vg 0 0 0
@=% sd{rf/L vr{ 1,384,255.00 133,830.00 1,518,085.00

3 v"b gfˆmf÷gf]S;fg 5,346,844.64 -370,463.23 4,976,381.41
1 art ug]{ ;b:o ;+Vof

!=! AolQmut ;b:o 1090 2 1092
!=@ ;+ :yfut ;b:o 1 0 1

2 art Aofhb/

@ Þ! Go"gtd 8 8 8
@ Þ@ clwstd 12.5 12.5 12.5

3 ;b:o ;+Vof

#=! k'?if M 671 2 673
#=@ dlxnf M 452 2 454
#=# cGo M 1 0 1
#=$ hDdf M 1124 4 1128

4 C0f c;'nL

$ Þ! efvf ggf3]sf] 64,986,166.41 0 64,986,166.41
$ Þ@ efvf gf3]sf] 0 0 0

5 nufgLdf /lx/x] sf]

%=! 3/ hUuf 0 0 0
%=@ Aofkf/ Aofj;fo 28,026,495.00 1,400,000.00 29,426,495.00



%=# xfo/kr]{h 0 0 0
%=$ s[lif pBf]u 0 0 0
%=% cGo 116,961,689.64 3,570,000.00 120,531,689.64

6 sd{ rf/L ;+ Vof

^=! k'?if 2 0 2
^=@ dlxnf M 7 0 7
^=# sfof{no M 0 0 0
^=$ hDdf M 9 0 9

sfo{sf/L k|d'v÷cWoIfsf] gfd / x:tfIf/


